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[Class VI] [Worksheet ] [English SA-1]

Month : April - |
Unseen comprehension
1. Put a circle around the number next to each correct answer after reading the passage.

At any ocean beach you can see the water rise up toward high tide. Something is pulling the water
up. We now know that the moon is doing the pulling. How can it pull? We call the pull
gravitation. All matter everywhere pulls all other matter everywhere. The bigger the object, the
greater the pull. The moon is big enough to pull the earth, and it pulls the water on the earth. The
moon pulls the water facing the moon. When you see high tide, you know that the moon is pulling
the water up.

A. When you drop something, and it falls to the ground, it falls because of -

1. the moon.
2. gravitation.
3. its size.
4. the sun.

B. High tide is caused by -
1. gravitation.
2. all matter everywhere.
3. the earth.
4. the water.

C. The moon pulls -
1. all matter.
2. water only.
3. the earth only.
4. the tides.

D. If the earth did not spin, -
1. there would be no tides.
2. the moon would not pull the water.
3. the earth would not pull the moon.
4. there would be no gravitation.

2. Find out given word in puzzle and circle it :

O] E O/ M| T|R|N|G END

K| N| O Q| P | S| N|G NEVER
G| D]|E E| T |H I G| H HIGH
PIR|R |V | V[Z[U]S]S KNOW
R|O|N E(D| L E| M NEED
ER|O|R|T|R]|]U E|Q LUCK
E|T|G| S| T|A|]C|P| K EVER
M| T]|O| M| G| S|K|R|U SEE
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